
SAP ABAP table PIQ_GB_UCAS_CHOICES {UCAS: Help structure choice data}

PIQ_GB_UCAS_CHOICES

CHOICE_NO [NUMC (2)]

ENTRY_POINT [CHAR (1)]

REPLY [CHAR (1)]

CONDITIONS [CHAR (6)]

UCAS_ACTION [CHAR (1)]

INTERV_PRIO [CHAR (1)]

AMENDMENT [CHAR (1)]

CONF_STATUS [CHAR (1)]

CONF_HIST [CHAR (1)]

SUBSTITUTION [CHAR (1)]

OFFER_LEVEL [CHAR (1)]

T7PIQCHOICES

MANDT [CLNT (3)]

CHOICE_NO [NUMC (2)]

 PIQ_GB_UCAS_CHOICES-CHOICE_NO = T7PIQCHOICES-CHOICE_NO 

0..N

1

T7PIQ_GB_AMENDM

MANDT [CLNT (3)]

UCAS_AMENDM [CHAR (1)]

 PIQ_GB_UCAS_CHOICES-AMENDMENT = T7PIQ_GB_AMENDM-UCAS_AMENDM 

0..N

1

T7PIQ_GB_COND

MANDT [CLNT (3)]

CONDITION_SUM [CHAR (6)]

 PIQ_GB_UCAS_CHOICES-CONDITIONS = T7PIQ_GB_COND-CONDITION_SUM 

0..N

1

T7PIQ_GB_CON_HI

MANDT [CLNT (3)]

CONF_HIST [CHAR (1)]

 PIQ_GB_UCAS_CHOICES-CONF_HIST = T7PIQ_GB_CON_HI-CONF_HIST 
0..N

1

T7PIQ_GB_ENT_PN

MANDT [CLNT (3)]

POINT_OF_ENTRY [CHAR (1)]
 PIQ_GB_UCAS_CHOICES-ENTRY_POINT = T7PIQ_GB_ENT_PN-POINT_OF_ENTRY 

0..N

1 T7PIQ_GB_INT_PRI

MANDT [CLNT (3)]

INTERV_PRIO [CHAR (1)]

 PIQ_GB_UCAS_CHOICES-INTERV_PRIO = T7PIQ_GB_INT_PRI-INTERV_PRIO 
0..N1

T7PIQ_GB_OFFRLEV

MANDT [CLNT (3)]

OFFER_LEVEL [CHAR (1)]

 PIQ_GB_UCAS_CHOICES-OFFER_LEVEL = T7PIQ_GB_OFFRLEV-OFFER_LEVEL 

0..N

0..N

T7PIQ_GB_REPLY

REPLY [CHAR (1)]

 PIQ_GB_UCAS_CHOICES-REPLY = T7PIQ_GB_REPLY-REPLY 

0..N

1

T7PIQ_GB_STATUS

MANDT [CLNT (3)]

CONF_STATUS [CHAR (1)]

 PIQ_GB_UCAS_CHOICES-CONF_STATUS = T7PIQ_GB_STATUS-CONF_STATUS 

0..N

1

T7PIQ_GB_SUBSTI

MANDT [CLNT (3)]

SUBSTITUTION [CHAR (1)]

 PIQ_GB_UCAS_CHOICES-SUBSTITUTION = T7PIQ_GB_SUBSTI-SUBSTITUTION 

0..N

1

T7PIQ_GB_UCASAC

MANDT [CLNT (3)]

UCAS_ACTION [CHAR (1)]

 PIQ_GB_UCAS_CHOICES-UCAS_ACTION = T7PIQ_GB_UCASAC-UCAS_ACTION 

0..N

1


